No.1

bovo - T4—)LFIERE - R - FELEREK B FT)
bt I a—r [ gEas  SHVEEERTREGE BIERE SRR SHg 21143708 | ¥IE
ERERI BETR LGRS BETHEESR s g BENE=VRAERE EHES a—F 142070 FLgREAL R
I TE RS T ol e i ek | i g || e i O i e
09/12|BF 5@ R DEGEEZS KRI=BS 11.18 2 |Fr R=E 3|=m 1.4 KEESTTE T 2 |F T8 11.43 41#E X 2 |%&E 11.45
100m -0.4 -0.8 -0.3 0.0
FEZSRES 3 |FnE 11.61 [EZES b=} 3|FE 11.64 7| F I MEES 11.66 8 [#fll EER AESS 1.7
-0.2 -0.4 0.0 -0.4
09/12| BF3#t5& R 1 |#&R - 3 |Fis 23.13 2|8 [0 3|Em 23.35 J[KM A 3|BEE 23.42 RS- T FEEES ] 23.58
200m -0.7 -0.1 0.0 +0.1
HEEIEES 3| =H 23. 60 6(EP Imi 3| AR 23.63 ETTIEES HEEEL: 23. 66 8 |FHESER 3 |EHEmE 23.71
-0.3 +0.3 0.0 0.7
09/12|BF3t5& R 1|RIFR TS 3 |#E-1E 53.13 AL 3|BX 54. 04 S|k HEA 3 |=H 54. 46 4RI #E 3 |#H 54. 49
400m 58K #HE HMEES 54. 49 6 [#1 EERAEA 3|EHER 54. 81 7|5H BAmE 299 =% 54. 90 8 |#hFH HimME 2k - B 55. 00
W BFRE | R TR B 3[mE 20177 |2[PE g 3@ 70050 |3 mE Bh 3|5k 7:05.97 |40 BR 3|28 7.06.68
800m 5hE BT 3 [FE4Y 2:07.82 |6 &5k B 3 % 2:07.83 | 783 & 3 B 2:08.05 |8 |E% BE RG] 2:08.58
09/11|5F & R HEZ PSS 3 [ K 4:22.26 |2 [#—R +& 3[R 4:22.55 |3 |E/ TR 3|+BHiE 4:26.81 | 4 [BEFHZAER 2 |F 7 4:27.40
1500m 51H# XX 3 |1gHT 4:29.23 |6 |=BRIGAED AE=E:3 4:30.62 || 7|/t $Rth 3 |#iR 4:30.66 || 8 [BH F|A PR 4:32. 36
W2 EFEE | R TiE %% 35 85881 |2]=t EZ 3lme 91689 |3 BAmEL _ 3[E% 02449 |4 MM WZE 5|k -4h 95214
3000m 53 k& 3lgmm 935 89 |[6|IAE 3| HEAR 940071 | 7|PE BE 20k @x 94329 8B @l 3lmme 9:43 42
W BFEE | AB TR E  S|mrE 48 |[2]&E Ehe  3[EE .20 3% He 3 |PAHE .30 4] &E  3|HEE T5.36
110mH[0. 914m] -0.3 +0.2 0.0 0.0
SikE ER 3| THA T5.3 |6 @ B& 3 [ 5.80 7N BA 3| 6,19 |8EE =M  3[ABE 16. 73
+0.3 -0.2 +0.3 0.0
WBTESE | 7B TE B2 T I e BE 2 T e 2
4% 100mR 1|4 edi] 1|&# 47.38 2 ERKREX 1 |#E 47.54 3 [ K58 [ o 48.06 4|1RE ER 1A 48.15
ME HE K& WA BEME EAKR—IE 1
LE g8 2 il BEE 2 HETILI— 2 #BH Bz 2
R EE 2 mH AE 2 FH k2 AARRSR 2
slkE mA 1|3oe 824 |6|Em EA1|@# 864 |7|EAMER 1 [TTES wor [slma #mn 1|aEa 49.02
I Bl BT 1 =X E hE g
BE @k 0 51 V) RE R 2 Ik AS 2
WETEE | 7B AA BE 3 RGN 3 T T B =A 3
4% 100mR TR FE VAE 2ol 43.71 2 | F il kv 3|IHEE 44.54 3|%Eg m=AT 3 |#gHT 45.13 4 [l 29T 2 |RAE 45.22
. I £ BE B# Kt 3 L
HET I T XM mA 3 Hit SR 3 BABEA 3
EANGA 3 EZ zm 3 X BA wif B 2
5|FR 3|KRE 45.30 6 KL BEE EEE-11 45.45 T|@E R KRI=PN 45.49 8 [/hiE iEA 3| =M 45.55
N EE W 2 g oo 2 e kE 3
_ _ rstmpx 3| i f5 3| LT I mft dEE 3
09/12|BFE R 1[|#%E 5 3 -1 1.78 PAESEIEEE:S 3 |[HEES 1.65 RHEE B 2 [lLA 1.65 48 I 3|=H 1.65
EE AT S 160 | 5(Ais & o[kE 60 | T|mEABA  I[ERE= 60 |Blnu wE 3[=m 1,55
W BrEE | AB % e I[N 370 | 2]k EE  3IE 360 |3 M 2] 300 _|[45% mA 3l 3.20
BEY _ 5lMl 3 3| rEm 310 J6[fF® B& 3 [mlim 280 |71l B=  J[E.@= 260 |8lEAEAE 2|tEm 2.40
WTBTAE | AB T[AEE st 3 [mAT 63808 [2[A% A 3l 61100 |3umAE= _— 3lom 51000 [4[%5 mr 3HEE 508(-0.0)
ZERE N E 597C04) [6|mE BE 2lETrs (58100 Tm BE  3|ErhA  [585G0D|8[kF mE  3[3IEH 58100
W ETEE | AB (N2 I T T2 1710 |7 [EABA 3w .07 |3]%) 727 3T EM 1085 410G ¥ 2[L\THE 10.51
FaH %[5 Okel 5 WL BEM 3| FEM 10. 60 6 |hnig [ 3 |F i 10.55 1X5H =25 3 /NE 10.29 SIHE BA 3| FMA 10. 05
WTBEEE | AB N 5 T 1T T VAT B B bt 229 | 3 [BMEZ 1 2]l P5iR |4 EE RE 3w AT
g SlLE #A  3|BhBE 0605 |6lEaS=Ls— 2[BTra 1056 | Tk @B  3[FyE 8755 8Bk FA 3 [mm 16365




bSwY - 74—V RiEHE - RH - SRR B FET)

No.2

Ml fE)I a— R |ﬁ| B4 SIIEEFET hERAR FET75EELEFEROER a— K 21143708 FHE
E(EIlIN BEMELFREBS BETHREEZEER B4 BEME=VIRAEE LRSS a— R 142070 FoEkEATE i
afr| e | e e | e PR e | i g || e i e || s i P
09/12| & F 5@ RA% 1|(posE7F«—+ 3 [1BET 12.79 2(|Il ¥t 2 |bhhs 13. 01 Jirn =% 1| K% 13.18 4| =R AREEK 1|5 13.20
100m +1.1 +0.9 -0.1 -0.5
528 =& INEZA] 13.24 6 [FLL ¥t 3 M5 13.25 1 |[StEREF 3| KA 13.25 8 (LA =EZE 2 |®ILEA 13.29
+0.9 +0. 4 +0.7 +0.3
09/12|&zF8 RA% 1|58 ES 2 |#&m 26.59 YAE B¥% 3 |dil 27.34 & FE 2 |2\ 27.39 4 |=ZHHHH 2 |FRE 27.58
200m +0. 6 -0.8 +0.7 -0.6
[REIRER 3| HENE 27.65 6|EH B4 3 |bhhsE 27.95 T ARDDH 3R 28.00 8ILUA Fik 3 |EILEA 28.01
+0. 1 -1.2 -1.0 +0.2
09/11| & F & RA% 1|#HE #HE 1[I 2:17.14 2 |m #k 2 | HhhE 2:19.78 | 3 [ILEB% [ 3 |FE 2:21.87 [A|HARESL 2|FE 2:23.99
800m 5 |#%7  #kE RIEZAT 2:25.64 [ 6|%X% MBIt R ENE: 2:26.02 || 7|MEi% Em 2 1B 2:27.32 |8 |:ZEBEER 3 |EHE 2:27.76
09/11|&F&£8E R 1A EL 3K 4:50.66 |2 [BFEEF 2 [AHE 4:51.66 | 3[F% £ 3 |luA 4:53.09 [[4|lLF EZH 3 [#E 5:00. 56
1500m 5 |RUEEH T YArES 5:05. 60 6|FE == 2 k- AE 5:07.06 MEEEDE YAEZIES 5:07.43 g E EHEX 2 |ERILUH 5:07.63
09/12(&ZzF&8 RA% 1 |#k 3 3[BE 14.71 2 |hnik  E=H 2 iE-#&AE 14.83 3 |4 HHE 3 |#HE 15.52 4 |GRINDE 2 gl 15. 69
100mH[0. 762m] -0.4 0.0 0.0 -0.5
5| BE RIS 15.92 6 |=BEUOMY AEGES] 16. 32 TR RRER 3 | A EE 16. 46 N EESEED AEZIES 16. 49
0.0 +0.6 -0.5 0.0
09/ [ K FIEZE EY: B Te 2 BR DL 2 E® LE 2 W ®H 2
4 x 100mR 1|1EH #F 11858 52.91 2 |ER —F 1 |[RAE 53.28 3|8 #E 1|12H 53.76 4 | K AEF 1 | BEHR 54.56
E@ ODE 1 g ®A 1 hE BE 1 RARED 1
HE & 2 BE R 2 s FE 2 I bE 2
AREIE 2 wA EE 2 -z &E 2 BF AZ 2
5 | B &7 & 1|59l 54.80 6 [/MRBE L 1 |FT5% 55. 08 1\&F E3 1|1FE 55.33 8 |EBEE 1Ry 5 55.45
AIBE 1 EBEC<H 1 S OEE BRI 1
B 2 B ¥H 2 J\ATFHEE 2 BE BE 2
09/12[ZF5m R Nk BB 2 EE< 54 3 FigE & 2 FSENEES 3
4 x 100mR 1 |EEEET 3 |AW 51.02 [[2|2R =& 1|2y 52.00 | 3|A =z  2|s=LMA 5215 [4|a ®®  3|fhuW 52.42
BE £ 2 HE KT 1 EHE A% 3 LI 5 > 3
R = . WE AHB 3 WA Fir 3 AHBE 3
HZ&EH 2 FH WE 3 AKlidmslr 3 SRARR |
5 (EE M4 3 |bhhs 52.51 6 |MIF  XF J|RET B 52. 71 T(&RN ki 3 |AEMR 52.72 8 (=48 EE 3 |#&mE 52.78
weE BE 3 BE $E 2 B OEE 2 HH OB 2
mI_Eit 2 Bk BEE 2 2E BE 2 FER
09/12[ZF5m R &t _¥X __ 3E-ArE T.60 |[2]f8  kbx 3 |pimW .51 | 2[+FH =4 3 |=M T.51 |4 Bi5 3 [hBAR 1.48
EEB bEE mE 2 |kB 1456 |FW _%HE 3 145 | 7[X&E #m __ 3|BE& 1.45 |7 |H3H@ABE 3 |=E 1,45
09/12[ZF&mE R T[ELBHT 3| THME 5.33(+1.5) | 2 & B e 3 [oH 490(+0.4) 3| EE 3R @AE 483(+1.4) | 4[m@ M 3[R 4_69(+0.2)
i'ﬁéﬂ _ b [EAX HiE 3 [#&EEH 4.60(0.7) [ 6 [#IE  HK&E MEZIEN 4.50(+0.3) || 7 EEEE%;?;_ 3 |l 4.46(+0.2) | 8 [#f Edpo%: 3| FHR 4.46(-0.7)
09/12[ & Fm R 1|FEaET  3|+tHmE 13.01 | 2[i8k =% 3 |pH 11.2] | 3|@ampne 3| tem| 1033 |4|BZK=ER 2 |bhRe 10. 20
Fax i [2. 721kg] 5 | K;th ErS KIEX 9.89 6 a8y iME JIRETB 9.77 1 [ = 1R (R 2 [l 9.17 8|ViH YK 3RS 9.03
09/11|ZF&mE B 1 |mE 52 2 |&ktra 2410m |2 gk A< 3 |HZEAH 2329 |3 |FH e  J|RIVA 207m || 4|ER 3 3 |gHE 2226/
o 3 _ Skt B 3[Hm 20755 [[6[RE =fF 2 [XH@ 20428 7 EMMANBE 2 E-BAE 19818 [8]miE @K 2L 1858/ |
09/12|BF R [ EXa 364 2 EEES 30A 3 N3] 26m |4 Bl 254
B 5 E-JB 245 |6 CELES 25 |7 et 205 |8 ZE 18
09/12| % F R [ B 31.68 |2 BHhRE 265 |3 Fl 255 |4 RS 225
Hwa _ 5 IS 2058 6 FE 1955 7 PN 195 8 EZA) 185
09/12| B & R [ EXa 545 2 CT] 50 3 IS 465 |4 TR 44a
foy=1 5 B 43.55 6 rH 42.55 7 Hhhs 3058 8 FE 29.5m
REHBETE DL N Ak (00m BAKETER) &1 A0t X CEmBE M T2




